
Kosten

Totale kosten = TK. 
Hieruit kun je 
afleiden:

Marginale kosten = 
MK

Toename TK als 
gevolg van extra 
eenheid

Helling TK

Gemiddelde totale 
kosten = GTK

TK/Q

Hoek voerstraal 
met TK

Totale variabele 
kosten = TVK. 
Hieruit kun je 
afleiden:

Marginale kosten = 
MK

Toename TVK als 
gevolg van extra 
eenheid

Helling TVK

Gemiddelde 
variabele kosten = 
GVK

TVK/Q

Hoek voerstraal 
met TVK

Totale constante 
kosten = TCK. 
Hieruit kun je 
afleiden:

Gemiddelde 
constante kosten = 
GCK

TCK/Q

Hoek voerstraal 
met TCK

zelfdezelfde


